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The figures in the margin indicate full marks
for the questions

1. (a) Write the period of sin2x. 1

(b) Write two sufficient conditions for a
function to be expanded in a Fourier
series. 2

(c) Find the Fourier series for the function
flx)=m+x in the interval (0, 2m). 7
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Or

Find the Fourier series for the function

f()=x in the interval (g, 7).

Write the value of L{t2}.

Write the value of L{e%;,
Find L{sin2t}.

Find any four of the following :
- () Licosh?2p

(i) L{e3t cos2t)

(@) L{t? +1)2)

() L{1 +te!)3y

(V) L{sin3 2t}

(V) Litsin2 o¢)

Write the valye of L,
Write the valye of L‘l{\s }

S2 49)
Find any two of the following :

(l) L—l 1
73]

(i) ! 3\2
(S+2)3
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(3)

(i) L‘1[ S §]
(S+1)2

- S+6
i) L~Hlo
(i) { g3t 2}
4. (a) Write the Fourier sine integral formula. 1
(b) Write the Dirichlet’s conditions of
2

Fourier transform.
() Answer any three of the following : 5%x3=15

(i) State and prove the change of scale
property of Fourier transform.

(i) Find the Fourier transform of

-2
fX)=e 2, —o<x <o
(i) Find the inverse Fourier transform
of el8ly,
(iv) Show that

Fia £l =
ds

(d) Find the Fourier sinev and cosine
transforms of f(x) = x. 7

Or
Find the Fourier transform of

cosx, for |x|<a
X) =
f { 0 , for |x|>a>0
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(4)

5. (a) Write the value of L{%‘lt!} 1
Find L{a—y} 2
(b) a X *

(c) Solve any two of the following, using
Laplace transform : 6x2=12

dy

2
0 2+

+5y =5, y(O) y'0)=0

dy

@) $Y+2% _3y-=sint,
dt?

dt
Y0 =y'0) =0
(m) +y =0, y0) =1, y'0)=0

(iv) %+y=sint, a%+x=cost

x0) =2, Yy0)=2

* % %k
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